THR2SEE AHMRRR

A - MBEBRER HENE B ] B 8 £ ]
122319 TR BN S, StEHEKXIEEE 0 SZFR - HeRPTEL i i 9
2
IREBPKX S EE 0 FTEILEEE (RTEEE8, ) nf 16,474
I ZX% & E 3 K)\D =/, N> =3
EREASKSHAD (H29.1.1570) 97,263 A s i e 0 BEAS 7 0
RIS ox REHK XIS EE 0 ElE 2
(DB5EKICHDDED) |E§ﬁ€
IRTEHEKAD . -
s K G SBFKCHDEED) 0 SRS 6
- - TS > REHKKIABE 0 T -
= (5BBKCHNDED) & BT 0
eSS 1,140,111 MEBKAD 0 BT 1
&5 TRBE |REEBHOKIES f?’;’f;’gt;%”; NEE - HRAME
[ 6,032,135 SRR 0 SITRSH 4
QEIEuAVA 163 HEHKAD 0 ST 5
J— n (SBBKRICHNZEND) PN
BTN o ; S MING R KK , NEREE — I’
B (SBEKCNNZED) =
N\ far:
sE% BRI II 1,284,452 kAT 0 Tt 6
mia INERBRESHEKNIEEER = ﬁ;};p}@ﬁmz MES
Z0fth 417,750 [555§7J<ICD\D\660))§ 0 SRS 16
JNES P 0 JIa”"5+~ - SV RUEAD 0 EE 0
EBS | sopsps 1 0 SHLZSEEMEAD e I e T e SEmay 0
= ’ EIES VAR
EEERE (REH) 0 ~ B ITIHESR Bl 7 B 1
. RBP - EN=§)
WEIER (FRER) 0 Bt —EPEFEHAS TINER | BT 0.0 SEBSH 0
WEAO oo | [P oo | FEBTAT TSGR B 0 B 1
FEHRINES BIEE | _mmmasiies | s B =F-
FEEEy) SiINES 674 BB 7SS 1IMEER | BETE 0.0 SIHEMN 0
n Al =
2N B MEAO 97,321 s ) | DEIRITTHERR S 0 LS 5
e —— il - RIS
FRGINGES 29,219 —BiEISAES IR | &P 0.0 SIS 0
HmENE 0 = BRI | ThEIA T 5EER EPTEL 0 EFTEL 0
Rk B X F—L
—BEIFEEE 0 ax =LA —BlEIFMAS IR | B 0.0 SRS 0
FIKESE (#67KkAD N
BRIk HEIE 0 sz BT YT 5EER ERTE 0 REV5— Sl 4
@'—tfﬁﬁﬁ'@gg _nﬂgvg%ﬁl_\»« m—A 1 I YA T HEEN | A TR ke = = = Y
LEHESE 0 BB FEHAS TSR | BRTE 10 0.0 SH0OR BT 0
REHKAD 79,650 p— RERR | hEIAYIziEs B (T 0 BROR BIEBEY 0
SEMER
SHEHKR @ 29,520,000 SENESR | BN EE: ET 0 BT 77
i ERNEER
REHKR AT 19,374,200 HHME | BRI IIHES B T 2 L@ 2,929
Bl Bl
SHER RIS 0 5?6 “’5‘@6@ IRV AVE ERjE T 0 & T (itbid) 2,548,805
TGS
TKEE | RHETKE IRTERRRAMBIRH | 475 0 - 2y GEEE) 310,797
NEHE
HELEXINEE 29,520,000 = Tith (i) 228,469
el
IREMEXISERE 19,374,200 = 2y GEERE) 2,539
REMERERAD 79,650 = THRERES Tty () 0
BEE
BHEKSEFRESAD 78,514 ZDHOERE T (iE 0




